

Divide by 10^{-2} (A)

Find each quotient.

$$83 \div 10^{-2} =$$

$$74 \div 10^{-2} =$$

$$35 \div 10^{-2} =$$

$$26 \div 10^{-2} =$$

$$42 \div 10^{-2} =$$

$$74 \div 10^{-2} =$$

$$60 \div 10^{-2} =$$

$$42 \div 10^{-2} =$$

$$15 \div 10^{-2} =$$

$$43 \div 10^{-2} =$$

$$15 \div 10^{-2} =$$

$$34 \div 10^{-2} =$$

$$39 \div 10^{-2} =$$

$$76 \div 10^{-2} =$$

$$35 \div 10^{-2} =$$

$$94 \div 10^{-2} =$$

$$49 \div 10^{-2} =$$

$$51 \div 10^{-2} =$$

$$33 \div 10^{-2} =$$

$$19 \div 10^{-2} =$$